‘ SYH ressnm

iR
FEEEAERBEERPTRELL
FEREA

RE Lock Valve, Relief Valve, Bhid[x, FRBH /& EEL =5,

JapuljA) Aiojoy

REHEISERRIES

7 [
SEZEERA (Push) [em?]

Piston Force (Push) Push [kN(kgf)]

Piston Force (Pull) Push [kN(kgf)]

SEE@EAD (Pull) [em?]
(

RATEES [MPa(kgf/cmd)]
AFHRARAFEE [min']

M8 N - mikg - m?)]

2 Leak £ [£/min]

KITAGAWA® Model

K RV BRAFCRASOINE N o
¥ R SMERIET B EMERMFEE,

Ji Ji

X SREMEF AR

SYH-1036 SYH-1246 SYH-1552 SYH-1877 SYH-2091
36 36,39,40,41,43,45,46 46,52,69 68,69,75,77 78,91
105 125 155 180 205
15 15 22 25 30
67 100 161 198 252
64.5 89 150 183 234
25(2549) 38(3875) 60(6118) 74(7546) 94(9584)
24(2447) 33(3365) 56(5710) 69(7036) 88(8973)
4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8)
8000 8000 6200 4700 3800
0.10(0.011) 0.18(0.019) 0.52(0.053) 0.93(0.095) 1.45(0.153)
8.6 12 16.8 26 33
3 3 39 4.2 45
S-1036 S-1246 S-1552 S-1875 S-2091
4-Q1 W u \
R1 At B1 Z T
¢ Jne Az_gqunER DAy, L
P1
/_-\
s =/
¥ \
™
- |1 . { S
st [ O £
& 2 50| |51 x s | o w El ol o 5
2 -4 < | — ~\/ N -S| 1 o o B B B -5
o| of a| | = = 1 ;1 \F/
9] o -1 —_— -t —
1 Y
=
H
12-F1




©

©
=

©

H max.

<
(all

©

o
]
n
<
—-| e = A
= ® m R

i

oe}
—

0O
=

-
=

—

Jc
—=

=
fry

=
=

M

0
—

e}
=

el
—

iy

ey

SYH-1036 SYH-1246 SYH-1552 SYH-1877 SYH-2091
135 155 190 215 240
15 130 170 190 215
100 100 130 160 180
65 80 85 120 140
a8 65 70 95 110
Ma42x1.5 M52x2.0 M60x2.0 M85x2.0 M100x2.0
36 46 52 77 91
30 36 36 36 34
446 529 596 8456 996 .
55 64 73 98 108 £
73 85 9% 121 138 =
45 515 57 70 79 2
104 118 137 166 182
15 15 130 160 185
156 184 191 230 253
15 15 22 25 30
0 0 0 0 0
40 40 47 50 55
25 25 2 25 25
5 5 5 5 5
1 15 12 175 21
1025 1265 136 1535 168
25 30 30 35 35
M5x11 M6x9 M6x9 M6x9 Méx14
6-M10x17 12-M10x20 12-M10x20 12-M10x20 12-M12624
98 135 145 166.5 183
88 98 110 155 165
73 76 86 101 110
47 47 47 47 47
15 15 15 15 15
38 50 55 80 95
64 76 85 108 120
4 4 4 4 4
M5x10 M5x10 Méx12 Méx12 Méx12
5 6 7 7 7
PT3/8 PTI/2 PTI/2 PT1/2 PTI/2
6 6 6 6 6
158 200 220 242 267
28 46 51 58 66
Madx1.5 M52x1.5 M58x1.5 M84x2.0 M99x2.0
2 50 56 81 9%




	回转油缸 8
	回转油缸 9

